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MOTIVATIONS

» Scaling FFAG transport lines.
* Insertions In scaling FFAG rings:
» Straight sections

» Dispersion suppressors in straight lines and bending lines.
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SCALING STRAIGHT LINES

Transverse linearized equations of motion

gai e 2 i 1 8B

- [)12(1 QK’) 2=0 with K = ( a )

gzt o2 (Kp)z =0 T/ 2=0
These equations have to be independent of momentum
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The field law Is given by » B — Bge_(X Xo)




SCALING STRAIGHT LINES

Tracking iIn Runge Kutta with
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example with protons
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Length of the magnets
Drift

Kinetic energy range
Field index

Local curvature radius
Step size

Phase advances:
horizontal

vertical .,

60 cm
40 cm
80 to 200 MeV
17
2.1m
1 mm

104.8 deg.
112.5 deg.
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DISPERSION SUPPRESSOR
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DISPERSION SUPPRESSOR

Problem of phase advance: still scaling!
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APPLICATION: PRISM
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SCALING STRAIGHT LINES

Straight section = Bending section with infinite radius




DISPERSION SUPPRESSOR [N
STRAIGHT LINES
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DISPERSION SUPPRESSOR [N

trajectory A
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APPLICATION: PRISM
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CHANGE RADIUS
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